Kendriya Vidyalaya Sangathan
Bhubaneswar Region
Second Pre-Board Examination, 2020-2021 (Class-XII) 
Subject:	Computer Science (083)
Full Marks:70	Time:3Hours
General Instructions:
1. This question paper contains two parts A and B. Each part is compulsory.
2. Both Part A and Part B have choices.
3. Part-A has 2 sections:
a. Section – I is short answer questions, to be answered in one word or one line.
b. Section – II has two case studies questions. Each case study has 4 case-based subparts. An examinee is to attempt any 4 out of the 5 subparts.
4. Part - B is Descriptive Paper.
5. Part- B has three sections
a. Section-I is short answer questions of 2 marks each in which two question have internal options.
b. Section-II is long answer questions of 3 marks each in which two questions have internal options.
c. Section-III is very long answer questions of 5 marks each in which one question has internal option.
6. All programming questions are to be answered using Python Language onlySEC A

	Q.
No
	PART : A	SECTION : I	(1*15 = 15 Marks)
(Attempt any 15 questions from question no 1 to 21 )
	Mar ks

	1
	Which of the following is NOT a valid operator in python :
a ) %	b) =+	c) <<	d) in
	1

	2
	Write the type of tokens from the following : (1) for	(2) _fn
a) 1) Keyword 2) identifier
b) 1) Operator	2) identifier
c) 1) Literal	2) Operator
	1

	3
	Name the python library modules which need to be imported to invoke the functions: sin()
a) trigonometry
b) mathematics
c) math
	1

	4
	What does eval() function do in python?
a) evaluates the passed string as an expression and returns the result
b) evaluates the passed string as an expression and returns True
c) evaluates passed Number as an expression and returns False
	1

	5
	Which is the correct form of declaration of dictionary? a)	Day=(1;’mon’, 2;’tue’, 3:’wed’)
b)	Day=[1:’ONE’, 2:’TWO’,3:’THREE’]
c) Day={1:’APPLE’, 2:’ORANGE’, 3:’GRAPES’}
d) Day={1’green’, 2’red’,3’blue’]
	1

	6
	Name the datat ype of L in Python which is declared as : L = [1, 23, ‘hi’, 6]
a) List
b) Dictionary
c) Array
d) Tuple
	1

	7
	Identify the type of cyber crime for the following situations:
	1

	
	A person complains that Rs. 4.25 lacs have been fraudulently stolen from his/her account online via some online transactions in two days using NET BANKING.
a) Bank fraud b) IPR	c) Cyber Terrorism	d) All of the above
	

	8
	Name the protocol that is used to send emails.
a) FTP	b ) FTTP c) HTTP d) SMTP
	1

	9
	 	is a network device to connect two dissimilar networks.
a) Router	b) Hub	c) Switch	d) Bridge
	1

	10
	The unit for measuring data transfer rate is  	
a) Mega bit per second	b) Mega baud per second
c) Mega byte per second	d) Mega nibble per second
	1

	11
	Which of the following is the full form of CSV.
a) Comma Sum Value	b) Comma Separated Values
b) Comma Set Values	d) Common Series values
	1

	12
	In SQL which of the following clause is used to sort the records of a table?
a) Order by	b) Group by	c) Where	d) Having
	1

	13
	Which of the following SQL command is used to delete the table?
a) Del	b) Drop	c) Clear	d) Delete
	1

	14
	Which clause is used to remove the duplicating rows of the table?
a) Order by	b) Group by	c) Distinct	d) Unique
	1

	15
	Update is a DDL command.	state True or False
	1

	16
	Which of the following is NOT a valid constraint in Database.
a) Foreign Key	b) Varchar	c) Unique	d) Check
	1

	17
	Find the invalid identifier from the followings
a)	_myName	b) none	c) While	d) True
	1

	18
	Find the output of the following code X=’Computer Science’
print(X[3:])
a) puter Science	b)   pmoC	c) Comp	d) None of the above
	1

	19
	Dictionary is immutable in Python. State True or False
a)True b)False
	1

	20
	In the given URL, What is the meaning of ”s” in https
https://www.onlineexam.com
a) secured	b) small	c) students site	d) static
	1

	21
	Which among the following is NOT correct about DBMS?
a) Table can have only one primary Key and only one Foreign Key
b) Primary key field is unique.
c) A table can have many foreign keys.
d) A key is either an attribute or a set of attributes.
	1

	
	SECTION –II
Both the Case study based questions are compulsory.Attempt any 4 sub parts from each questions .Each question carries 1 mark
	



	22
	PharmaDB
PharmacyNam PharmacyLocatio
RxID	DrugID	DrugName	Price	e	n

R1000	5476	Amlodipine	100.00 Rx Pharmacy	Pitampura, Delhi
Bahadurgarh, R1001	2345	Paracetamol	15.00	Raj Medicos	Haryana
Rajouri Garden, R1002	1236	Nebistar	60.00	MyChemist	Delhi
R1003	6512	VitaPlus	150.00 MyChemist	Gurgaon,Haryana Levocitrezin		South
R1004	5631	e	110.00 RxPharmacy	Extension,Delhi
	

	a
	Write the SQL commands :To increase the price of “Amlodipine” by 50.
	1

	b
	To display all those medicines whose price is in the range 100 to 150.
	1

	c
	To display the Maximum price offered by pharmacy located in “Gurgaon”
	1

	d
	To display sum of price for each PharmacyName having more than 1 drug.
	1

	e
	Write the output(s) produced by executing the following queries: SELECT RxID, Price from PharmaDB where PharmacyName IN (“Rx Parmacy”,	“Raj Medicos”);
	1

	23
	( Answer any four)
Sharma Medicos Center has set up its new center in Dubai. It has four buildings as shown in the diagram given below:


[image: ]

Distance between various building are as follows:
[image: ] [image: ]

As a network expert, provide the best possible answer for the following queries:
a) Suggest a cable layout of connections between the buildings.

b) Suggest the most suitable place (i.e. buildings) to house the server of this organization.

c) Suggest the placement of the following device with justification:
	4















































	
	a) Repeater	b) Hub/Switch

d) Suggest a system (hardware/software) to prevent unauthorized access to or from the network.
e) Is repeater is needed as per your layout ? if yes suggest the location
	




	Q.
No
	Part: B		Section : I	(2 * 10 = 20 marks) (All the questions are compulsory)
	

	24
	Rewrite the following code in python after removing all syntax error(s) if any? Underline each correction done in code.
O,P= 10=20
for j n range[O,P]: print(p*4)
T= p+5
Print(T)
	2

	25
	Find and write the output: def solve(s1):
k=len(s1) s2=''
for j in range (0,k): if s1[j].isupper():
s2=s2+s1[j+1].lower() elif s1[j].islower():
s2=s2+s1[j-1].upper() else:
s2=s2+'@' print(s2)
solve('WeLcoMe')
	2

	26
	What possible outputs are expected to be displayed on the screen at the time of execution of theprogram from the following code? Also specify the minimum and maximum values that can be assigned to the variable c.
import random temp=[10,20,30,40,50,60]
c=random.randint(0,4) for I in range(0, c):
print(temp[I],'#',end='')
(i) #10#20 (ii) 10#20#30#40#50# (iii). 10#20#30#	(iv) 50#60#
	2

	27
	Find and write the output of the following python code : def come(n):
n=n+10 m=5+n n,m=m,n+m
return n,m P=come(6) print(P)
	2

	28
	with open("test.txt",encoding = 'utf-8') as f:
what is the advantage to open a file in above way
	2



	29
	Write a function in python to count the number of vowels in a text file data.txt?
OR
Write a function in python to count the number of words in a text file a.txt?
	2

	30
	Write a function DISPLAY() in python to read and count the word ‘THIS’
from “NOVEL.TXT”.
	2

	31
	Give the full forms of the following :
(i) SMTP
(ii) SIM
(iii) Lifi
(iv) GPRS
	2

	32
	Differentiate between equi-join and natural join OR
Difference between primary key and alternate key
	2

	33
	Define degree and cardinality. Based upon given table write degree and cardinality.

[image: ]
	2




	
	Part: B	Section : II	(3 * 4 = 12 marks)
(All the questions are compulsory)
	

	34
	Find and write the output of the following python code: def update(p,q=10):
p=p+q q=p-q
print(p,”#”,q) return (p)
p1=40 q1=20
p1=update(p1,q1) print(r,”@”,q1) q1=update(q1)
	3

	35
	Write a function “perfect()” that determines if parameter number is a perfect number. Use this function in a program that determines and prints all the perfect numbers between 1 and 100.
[An integer number is said to be “perfect number” if its factors, including 1(but not the number itself), sum to the number. E.g., 6 is a perfect number because 6=1+2+3].
OR
A binary file “STUDENT.DAT” has structure (admission_number, Name, Percentage). Write a function countrec() in Python that would read contents of the file “STUDENT.DAT” and display the details of those students whose percentage is above
75. Also display number of students scoring above 75%
	3



	36
	Write a function LShift(Arr,n) in Python, which accepts a list Arr of numbers and n is a numeric value by which all elements of the list are shifted to left.
Sample Input Data of the list Arr= [ 10,20,30,40,12,11], n=2 Output Arr = [30,40,12,11,10,20]
	3

	37
	Write a function arm() which will take a number as parameter then display it is An Armstrong number or not .
[Armstrong number of a three-digit number is a number in which the sum of the cube of the digits is equal to the number itself. Hence 153 is an Armstrong number.]
OR
Write a function Fib()which will take a number as parameter then display fibonacii series upto that number.
If n =5 then the series would be 1,1,2,3,5
	3

	
	Part: B		Section : III	(5 * 3 = 15 marks) (All the questions are compulsory)
	

	38
	Write a function in python, SPush(package) and SPop(package) to add a new Package and delete a Package from a List of Package Description,
considering them to act as push and pop operations of the Stack data structure.
	5

	39
	A file name people.csv is in the current directory. write python code to read people.csv and display the content row wise.
	5

	40
	Write the codes in python to create a data base in MySQLwhose name is School
OR
Write a python program to insert a record to a table customer in mysql The table has two attributes Name and Address .
	5
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